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Detalls of Initial Data Cuts:

* All of Fall 2016 Run Data (~41 K Files)

* |nitial Cuts:
— Cut Photon RF DeltaT: +/- 2.0 ns
- Invariant Mass Cut of K+/K-: (0.95, 3.0)
- Invariant Mass Cut of gammal/gammaz2: (0.0, 2.0)
- Missing Mass Squared Cut: (-1.0, 1.0)
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SC dE/dX (MeV/cm)
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CDC dE/dx (keV/cm)
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PID Confidence Level
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Energy: Photon
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Second Round of Cuts:

 PID DeltaT Cut On ALL* Timing Detectors and
ALL Particles: +/- 0.5 ns

 PID DeltaT Cut On FCAL Timing Detectors for
gammas: +/- 1.0 ns
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SC dE/dX (MeV/cm)

25

20

15

10

SC dE/dX (MeV/cm)

dEdX Vs P: SC

p Candidates

T T T

T T 1T

K" Candidates

T = T T

T T T H

Entries
Mean x
Mean y
Std Dev x

Std Dev y

5.439981e+08 ’é\
1.867 £ 5.967e-05 k3
2.397 £ 8.338¢-05 10° N

1.39 +4.219e-05 v
1.943 + 5.896¢-05 P
— — ~—~
B ] 10* é
m
kS|
3 Q
10 w2
e
10?
10
1
9 10

p (GeV/c)

Entries 6.073971e+08
Mean x 1.4 £4.771e-05
Mean y 3.251 +9.435¢-05 10°
Std Dev x 1.175 £ 3.374e-05
Std Dev y %324 +6.672e-05
G 10*
10°
107
10
i 1
p (GeV/c)
K™ Candidates
25 s TR IEL R LTT Entries 4.97114e+08
=7 E Mean x 1.951+6.13e05
Mean y 2.077 5.815¢-05
Std Dev x 1.366 £ 4.335e—05
20 = Std Dev y _ 1.295+4.112¢-05
15
10 7 =
=5
S t =
_‘—-—
0i. | ISR (S S e
0 1 2 3 4 5 6 7 9 10
p (GeV/c)

10°

10*

10°

10?

10



CDC dE/dx (keV/cm)
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PID Confidence Level
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AI:BCAL -RF
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Yp—K'K yyp Missing Mass Squared (GeV/c?
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Invariant Mass Distributions
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Third Round of Cuts:

Kinematic Fit Type: P4 And Vertex

Require Kinematic Fit converges
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Yp—K'K yyp Missing Mass Squared (GeV/c?
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Invariant Mass Distributions
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Fourth Round of Cuts:

* Only 10% of the Fall 2016 Data (due to time
restrictions)

 dEdX CDC: Proton, Kplus, Kminus

 dEdX ST: Proton, Kplus, Kminus

* DeltaT Vs P TOF: Proton, Kplus, Kminus

* Vertex Z && Y vs X: Proton, Kplus, Kminus, Gamma
» All Particles must have a timing hit in detectors



Mass Distributions
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Fifth Round of Cuts:

These are some cuts that | am playing with
right now:

Require exactly 2 photons

Require exactly 1 K-

Require 1 or 2 protons/K+



Mass Distributions
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